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Church numeral 00, A 00000000 ODOODO0O,

0 = XzM\y.z

1 = AzAy.yz

2 = AzMy.y(yz)

3 = A2My.y(y(yz))

oooooo.0oooooooooobooooog,booooAa0O0oooo
ooo.

ged(z,y) = (n'((succz)cs))zy
c = (0, \z)\y.y)

s = Az.(succ(mwz), Ay. if (y < wz) then (7'2)y else r (7wz)(7'z))
r = Az)z.if (z = 0) then (Ay.y) else (A\y. z(y % z)z)

goooo,
succm = m+1
m(z,y) = T
(z,y) =y

y%z =y0dz0O00OOOOO

00000000,00 ifthenelse 01,0000 z=0,00000 z<y0
00,0000000000000000. 0000, Church numeral m,n
ooo,

ged(m, n)

O,m0n0000000 Churchnumeral 0,000 g-00000000
oo,bo000,0000 mpnOO0OOOODOOOOO.



